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I 7 mwn: Halakhic status of girl at 3 years old (when nx»1 is considered a Halakhically meaningful act; beforehand pya yagx jmia)
a 237 she may be nw1pnn via NR’a and if her 02 has nxa with her, that is a valid p
b ;7w liability for having nk»a with her if she is married to another; partner is killed (but she is exempt)
¢ anpv (if she is a 1T or nar), she generates NkN to the Y12 which affects 1175v3 NN 20WN
d  Anaz if she marries a 103, may eat nmyn; if she is NYYa1 by a %109, is excluded from marrying 112
II  Dispute n'nan/n" about end-point of 3 years
a  p”r 3years old is NX’21 NVTPNN
b  onom 3 years and a day
i w7727 they disagree about the one day (must it be 1%t day of 4™ year or even on last day of year #3)
ii v 77 whether we consider 30 days in a year sufficient (1”1 — we do=»D7w w5» na means 30 days into the 3™ year)
1 Challenge: Xn»12 — n" rules that a girl is NR22 NWTPNN at 2 years and 1 day; o'non — after 3 years and 1 day
2 Analysis: this works according to 13nv *3; just as there is a Xin who considers 30 days=year; 1 may feel 1 day=year
(a) But: this is difficult for '8» '7’s position — (indeed — Rwp)
III Discussion re: 9 na before the age
a /v uses terminology — “like putting a finger in the eye”
b Question: do mmna “go away” and are restored at some later point? Or do they simply not go at all if before 3?
¢ Practical difference: if he had nx»a before 3, found B1, then after 3 and found no o7
i If: we consider them to have gone and returned, perhaps there wasn’t enough time yet for them to be restored
ii  But if: we consider them not to have gone at all — this may indicate that another had nx>a w/her in the meantime (after 3)
1 Challenge (8777 7772 8711 *7): perhaps a wound is restored immediately and she certainly had relations with another
d  Rather: if he had n®»a before 3 and found p7, then had nx»a after 3 and again found b7
i If: we consider them to have gone and returned, this is 0’512 T
ii ~ But if: we consider them never to have gone at all — then the first o7 is 0T D7
Answer (1n7): from wording of mwn (which could have said “beforehand it is nothing”)=»they go and are restored
f  Story: with Roman noble’s daughter who asked 21 at what age girls marry (3) and when they conceive (12)
i Sheresponded: that she married at 6 and conceived at 7
it~ Challenge: from ruling of n (those who may use) - no need for a girl before 11 to use it, as she can’t conceive
1 Note: onon disallow 7n and v. 1 applies
2 Answer: either v. 2 (threshold of 12 doesn’t apply to them or v. 3 — she was lying about her age of conception
g  Story: girl came to Y™, stating that she had had n&»a with 5102 before age of 3 and he permitted her to nnna
i When: she added on that she had done this several times, he prohibited her
ii ~ Students: protested — n"n%n that any nxk»a (even multiple) before age 3 doesn’t count (he was just testing them)
IV n mwn: Halakhic status of boy at 9 (whose n&»a is Halakhically meaningful)
a  pa~if he has relations with the nn, this is a pap — but no v1 is given until he reaches majority
i Challenge: why is a v1 sufficient when he reaches majority? »x> mn1> RnoaIn — v 12 NX’1 is parallel to RN for an adult
1 Just as: if he did RN, requires va for his InRN and n¥'Yn for the Nt
2 Same here: should require both
3 Answer (127): means that when he reaches age, should have nx»a with her (completing 12») and give her a va
b And: he becomes Rnv as 111 Y12 (11YY3 PNNN 25WN RNPVN); if he is NNNIY YOIy, his Nroa invalidates girl; but if he is a 103, his nx’a
will not empower girl to eat nmn; if he commits bestiality, that nnna is now nam?’ %109 and is stoned on his account; if he had
nra with any of the ny1y, they are killed on his account, but he is exempt
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